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Mt S=T AR A 13,886,832 6,918,484 6,968,348
= 4,360,000
= 827,300
= 8,699,532
MrT e 1,191, 160 1,085,746 105,414
= 350,000
= 841, 160
FUALT HA RX 2 90,000 120,000 30,000
A L ALZH RE2E 90,000 120,000 30,000
401 Al HIL 2 CH] 90,000 105,000 15,000
01 Al&tt| 90,000 105,000 15,000
© MBHAETAYL FARTZS
30,000, 0002 * 14! 30,000
© MBHETAYA HA HE DDA
40,000, 00021+ 14! 40,000
O ABIETAIRA BlOA OIFBA
20,000, 00021+ 14! 20,000
W[N] 640,320 655,320 A15,000
= 350,000
2 290,320
WEP Y T 140,320 155,320 15,000
101 Q1248 8,960 8,960 0
VPR EEP=EPS 8,960 8,960 0
ODISA+T U ARDATAE B2lQloI2iY]
140,002 *320H 4 %22 8,960
201 LBt Y| 23,200 23,200 0
02 ZZ2YH| 23,200 23,200 0
OR% SHAA 242 25,0008%35H 4 #43] 3,500
OF4 SEAA 242 1350002 %35H £ 43 18,900
O« B57Y SN 800,000 14! 800
202 04t 1,000 1,000 0
01 2UHOIHI 1,000 1,000 0
OFTAIE +HAA OfH]
20,0002 %257} 4 23] 1,000
401 Al2HI L 2 0H | 107, 160 122,160 A15,000
01 Al&tt| 107, 160 122,160 15,000
OATRS £TAIM SXS4 80,000,000 14! 80,000
OATR +TAIM B BA
15,000,000 17§ & 15,000
OARE 2TAE ASAE B 8Y
95,0002 %320H 2 43| 12,160
ARD STASWS(REAL) 500,000 500,000 0
= 350,000
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< 350,000
i 150,000
H=sasT 2t 460,840 260,340 200,500
A2HE SEFNLAL (MEAY) 250,000 250,000 0
401 Al HI L2 0HHI 250,000 250,000 0
01 Al&HI 250,000 250,000 0
OLYH St T2l BHABZ HYTA
250,000,000 14 250,000
HESSSAE HEAL (XA 10,840 10,340 500
101 214 H| 1,500 1,200 300
04 JI12tM22sEx 1,500 1,200 300
OAUSSTSAIL FHFH 22
187,500 *4 0l 2= +23| 1,500
201 et Fy| 1,740 1,740 0
01 At 22|l 1,500 1,500 0
OYU==Z2SAIE FH A= EHl
1,500,000 14! 1,500
02 2322l 240 240 0
OH==23sA4 Heldaza)| M)z
5,000& #40 A+ 1201 & 240
206 M =4I 1,600 1,400 200
01 HZdl 1,600 1,400 200
H==3sAd Nedar)l| A2F Wbl
400, 0002 400 2 1,600
401 A& HI YL 20| 6,000 6,000 0
01 Al&HI 6,000 6,000 0
DESME AESTSAE HEAL
1,500,000 *4H 2~ 6,000
22 & ALY 200,000 0 200,000
401 A& HI YL 20| 200,000 0 200,000
01 Al&HI 200,000 0 200,000
OZE201SH(HEE) 22 SHEIAM
200,000, 000& =14 200,000
S0 5,000 5,000 0
Xlot==2tel 5,000 5,000 0
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01 Al€Hdl 5,000 5,000 0
OXot=2Xl HS At 1,000,000 *57H 2 5,000
SFIIZANE 2 6,233,000 2,689,000 3,544,000
= 4,360,000
& 477,300
i 1,395,700
St=2tH 2tel 938,000 270,000 668,000
= 656,000
= 282,000
Sh=2t01 ZHI(+) 679,000 270,000 409,000
= 475,000
= 204,000
401 Al HIZL 20l 679,000 270,000 409,000
= 475,000
= 204,000
01 Al€Hdl 679,000 270,000 409,000
© oFXel+S ot=22 FHIALY
679,000,000& * 14! 679,000
= 475,000
= 204,000
Sh=2t01 ZHI(ZE) 259,000 0 259,000
= 181,000
i 78,000
401 Al HIZ SO 259,000 0 259,000
= 181,000
i 78,000
01 Al€Hdl 259,000 0 259,000
O ZEXalTY ot=22 HHISA
259,000,000& * 14 259,000
= 181,000
i 78,000
SOHEOISot==FH| 941,000 550,000 391,000
= 658,000
& 84,900
= 198, 100
S0 E0ISot == "HI(ME) 579,000 250,000 329,000
= 405,000
S 52,200
= 121,800
401 Al HIZL 20l 579,000 250,000 329,000
= 405,000
S 52,200
i 121,800
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1,000
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1,000
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3,046,000
392,400
915,600
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,395,000
179,700
419,300

—
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1,279,000
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179,700
419,300

—
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—
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OUSELY AT IN HE+==
2,000,000 *1JH 2 2,000
02 222l 13,800 17,600 3,800
OUEEILE 5 M3 2,300,000 ~6& 13,800
202 04l 1,000 1,000 0
01 =L YI 1,000 1,000 0
OB +TAY HHEE ol
100,000 *121%103] 1,000
QYT ALe! 520,000 450,000 70,000
401 Al 2B L 204 520,000 450,000 70,000
01 Al&HI 520,000 450,000 70,000
O2U ti==&dl EHIAIY 200,000,000 *14] 200,000
OB LH (S22 1-16)2422 HXITA
100,000,0002 * 14! 100,000
OISO T2 BRMLZA
200,000,000& 14 200,000
OXZNMEISEIZ HHIAIY 20,000,000 *14] 20,000
HE2AZH| (ot At L) 57,852 59,638 N1,786
Jl=2&Hl 57,852 59,638 21,786
Jl=ZHl 57,852 59,638 21,786
201 LBk | 46,25 46,933 686
01 AL 22l bl 41,252 41,938 A 686
oYL YUY (EH BA) 41,252
Oger=ZH| 12,170,000& 14 12,170
O=2gg(g=2l) 14,490,000& 14 14,490
ozl 9,792,0002 *14] 9,792
oYxE 400,000 *1CH* 122 4,800
02 2322l 5,000 5,000 0
Oxtg KXl 5,000,000 *1CH 5,000
202 01 bl 11,600 12,700 A1,100
01 =LH 01| 11,600 12,700 A1,100
LT ot 11,600, 00021+ 14! 11,600
MRS (X3 (Aot AtE A) 5,863,020 2,597,000 3,266,020
LIS HeH XIS (Aot Z A &) 5,863,020 2,597,000 3,266,020
LHEHeH X & (Aot Z A A) 5,863,020 2,597,000 3,266,020
701 JIEtIHSHES 5,863,020 2,597,000 3,266,020
01 JIEtSIHHES 3,786,110 2,597,000 1,189,110
OB +TAY SEIH HES
3,786,110,0002 14! 3,786,110
03 I SEHIANNENES 2,076,910 0 2,076,910
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